
46

Ç
80
K7
(+

0,
00
9

-0
,0
21
)

Ç
83
,5
H1
2

(+
0,
35
)

Ç
10
0

Ç
12
0

30,2

1•45Å

4 ôàñêè

R1

2 ìåñòà À

Ç 0,002 Á0,01 Á

40

Á

46

Ç
80
K7
(+

0,
00
9

-0
,0
21
)

Ç
83
,5
H1
2

(+
0,
35
)

Ç
10
0

Ç
12
0

30,2

1•45Å

4 ôàñêè

R1

2 ìåñòà À

Ç 0,002 Á0,01 Á

40

Á

À(4:1)
2,2

R0,5

À(4:1)
2,2

R0,5

Ìàññà Ìàñøòàá
Èçì. Ëèñò ¹ äîêóì. Ïîäï. Äàòà

Ëèò.

Ðàçðàá. Ìàíàåâ
Ïðîâ. Ãîðóíîâ
Ò.êîíòð. Ëèñò Ëèñòîâ

Í.êîíòð.
Óòâ.

1:2

1

ÐÈÔÆ 041863.001.01.01.01 Ä

Ðîëèê

Ñòàëü 45 ÃÎÑÒ 1050-88

2,11

Èí
â.
¹
ïî
äë
.

Ïî
äï
.è
äà
ò
à

Âç
àì
.è
íâ
.¹

Èí
â.
¹
äó
áë
.

Ïî
äï
.è
äà
ò
à

Ñï
ðà
â.
¹

Ïå
ðâ
.ï
ðè
ìå
í.

ÐÈÔÆ041863.001.01.01.01Ä
Êîïèðîâàë Ôîðìàò A4

1. 45...50 HRCÝ

2. H14, h14, ±
IT14
2 .


